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Embark on a Voyage of Discovery
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It was estimated in Texas there were 8,500 peach-bearing commercial orchards. If each tree would yield 2 crates of peaches each, there would be 17,000,000 crates of peaches aggregating 17,090 car loads out of Texas. That gives you an idea of how enormous the business is in Texas.

1. If Jack owns 120 peach trees and each tree gives out crates of peaches. How many crates in all does Jack contribute to the Texas production of peaches?
2. Harry owns 6 acres of Texas land. He is growing tomatoes on one and sweet potatoes on the other. If he is able to get about 75 crates from one acre, how many crates would he have from 6 acres?
3. Jones owns 5 acres of land and grows cotton. From one acre, on a good year, he gets 40 bundles of cotton. How many bundles of cotton in all does he get?
